KHTE #HEER

M . i SM7HE098 138 (LEH) 1485185
SM7E098138 (LER)
KE=ZHRT. MYDHEOHME L —REERT 2720, Bt ERFTAEROBENRIT—BHLBEWHEELH 5,
Y AR iERS) B=H [Ekzikax: = BIHE
L5 531 139,770 4 140,305 133 %
R=E 1,706 55,816 300 57,822 161 %
=1 2,237 195,586 304 198,127 140 %
Bfi i kg, M
# o . TN I ENFEflE
x| e g |REAE HEAR TEm Y= YT s e
HE|ZTWIA 22,750 |[€ W AL 115 |dtiBE 10
ES 10 | 1,080 540
By 10
iEpS 22,635 |dbiEE 10 | 1512 | 1,414 1,188
ES 10 | 1,512 | 1,404 | 1,296
BH 10
ICALCA 21,070 | MAx 21,070 |dtiBE 10 | 2,160 | 1,296 972
hE 10 | 1,188 1,080
By 10
F Y 6,000 |& Y AAL 100 |B$ 5% 10 756
=F 10
BH 10
iERS] 5,900 |A#E 10 | 1,080 972 864
=F 10
By 10
L2 398 | AL 48 | =& 10
5 10
£ 10
GRS 350 | =% 10
5 10
By 10
F<En 1,700 | Y AAL 60 | K% 15
s 15
B Hb 15
=P 1,640 | K& 15
JuimE 15
B 15
ZEOhk 710 (€Y AAL 25 |z 0.2 76 70
B 0.5
£ 0.5
GERS 685 |Zik 0.2 86 70 65
HR 0.5
B 0.5
IEZO5NAZD 636 | €Y AL 26 |B 5 0.2
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SHTEIBI3H(LER) 14K518%

HIFTHE - @&
KHME #HHEHER SM7E098138 (LER)
B kg, M
x| w4 HFEHE |RFTHE HEARR — ﬁﬂ#fﬁ% —
FEHR aniE Hi| =fE B =&
N 0.17 162 151
By 0.2
GERS] 610 |FE 0.2 205 194
WA 0.17 194 184
By 0.2
hE 2,806 | #Ex 2,806 |dtiEE 5
THE 5
£ 5 3,024 918 864
7oyl — 180 | #8x 180 |dtiEE 6 5,184
RE 5
BH 5
ol 10,153 | W AAL 49 |85 5
PSS 5
By 5 2,484 | 2,160 | 1,620
iEpS 10,104 |& & 5 3,024 | 2,700 [ 2,160
5 5 3,024 1,836
BH 5 3,024 [ 2,700 | 2,592
N EYCR 930 | A 930 |dtiBE 10 | 1,836 1,512
BH 10
AN 2,458 |1 AAL 25 |B5 0.4
A 5
By 5 1,080
X 2,433 |#E 0.4 238 178 108
HAR 5
£ 5 2,484 | 1,080 648
k< k 2,540 | B8 2,540 (dviBiE 4 3,240 | 3,024
BE 4 3,024
By 4 3,240 [ 2,160 | 1,728
= 981 | #Bxf 981 |duimE 3
TRk 3
£ 0.2 248 194 151
r—< 2,043 |14 AAL 4 1EF 0.15
5 0.15
By 0.15
iEpS] 2,039 |&F 0.15
i, 0.15 92
& 0.15 103
E2BAHAZL 65 | BN 65 |dtiEE 5
5 5
By 5 2,668
BECFNAES 6,980 | #Ex 6,980 |dtiEE 10 | 2,160 | 1,944 | 1,080
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SHTEIBI3H(LER) 14K518%

HIFTHE - @&
KHME #HHEHER SM7E098138 (LER)
B kg, M
¥ w4 HFEHE |RFTHE HEARR — EB#W% —
FEHR aniE Hi| =fE B =&
By 10
E2Fu0D 5,730 | 4@ 5,730 [T 5
24, 5 1,944 972 864
B
T 420 | 4Bt 420 |F2E 4
BE 10
By 10 | 3,780
7-FhE 33,500 | A% 33,500 |dtiBE 20 | 5,400 | 2,700 | 2,160
By 20
BRELWET 233 | % 233 |FH 0.1
=F 0.1 130 76
i 0.1 216 130 86
Z Dt EF 18,022 | &4 AAL 79
GERS 17,939
[Ekzibak:: 4
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- AF74098 138 (LM A) 14K518%)

HIFTHE - @&
KHME #HHEHER SM7E098138 (LER)
Bifif : kg, M
x| w4 HFEHE |RFTHE HEARR — Eﬂ#ﬁ% —
FEH aniE Hi| =fE B =&
RBE | A 850 | #Ex 850 |FEAS BMELEHMA| 8
=y BELEHNA| 10
B MEBAZNA| 10 | 3,780 2,484
= INTG ZHD A 0.35
A ING ZHBDA| B
By ING ZHBDA| B
WAZ 8,330 | N 8,330 |&#* D2HB 10 | 6,480 | 4,860 | 4,320
R% D2HB 10 | 3,024
By D2HB 10 | 4320 2160 1,620
7L 20,689 | #Exd 20,689 |25 =K 10 | 3,780 1,620
THE =/ 10
&b =K 10
A ok 10 | 4644 | 4,428 3,564
B Lk 10 | 4644 | 4320 4,104
BH 2k 10 | 4,860 [ 3,240
HAR ] 10
I, s 10
B ] 10
HAR HEIE | 10
BS HEDE 5
BH HEDIE 5
hE 5,045 | A3 5,045 |A0Fxk L TR 7.5
=R yakis 75| 4860 | 3,240| 2,700
B TR 7.5
HH 2,524 |14 AHL 124 |&&S 5
i 5
& 5 3,240 | 1,296 | 1,080
GERS] 2,400 [BS 5 3,456 3,240
iz 5 1,620 1,404
By 5 3,024 [ 2,700 | 2,160
SES 13,153 [€ Y AAL 1,582 [1L&Y vwAv<zxA|l 5 |10800 | 8,640 | 8100
RE swvq4vwRA| 5
R vy Ar<AAl 5
1S E g 5 5,400 3,780
RE E g 0.35
By E g 0.35
L Zd FA2ERK 5
i L EF—x 5
Mg B — % 5 5,400 4,860
BH EF—x 5
GEpS 11,271 |13y vwAv<zxAl 5 | 11,880 | 6,480 | 5,940
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SHTEIBI3H(LER) 14K518%

HIFTHE - @&
KHME #HHEHER SM7E098138 (LER)
B kg, A
x| w4 HFEHE |RFTHE HEARR — ﬁﬂ#ﬁ% —
FEHR aniE Hi| =fE B =&
K% SwAvwRA| 5 9,720 | 8,100 | 7,884
£ swAvwzAhl 5 8,640 | 5,400
L EY E g 5 5940 [ 5,400 | 4,860
¥ Bl 0.35 486 378 356
Ry E g 0.35 432 324
i SESTS 5
] 1Ly B —x 5
g EH—% 5 5,940 | 4,320
Ry B4 —% 5 4,320
kb 300 | & sxAv<RxHh|l 5
¥ o AfvwzxHh| 5
K sy A r<AAl 5
1L EY E g 5
RE E & 0.35
BH E g 0.35
g SESES 5
1Ly B —x 5
g EAd— % 5
B EF—% 5
<Y 1,610 | #Exd 1,610 |8k 1 972 810 432
REA 1
By 1
WbH< 14 | 8%t 14 A8k 0.3
FA 0.35
& 0.3
T—ILR XAV 1,867 | #8xt 1,867 |2k 4 1,944 | 1,836 | 1,728
GEdE 1
By 1
ZDMRRE 3,740 | 8% 3,740
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